General Info

Number: PROJECT NO. 43-17-05

Description:

BRIDGE DECK REPAIR AND REHABILITATION,

BOSTON MILLS ROAD OVER OHIO TURNPIKE M.P. 178.0, OLDE EIGHT ROAD OVER OHIO TURNPIKE M.P. 179.5, NICHOLS ROAD OVER OHIO TURNPIKE M.P. 199.2,

SUMMIT AND PORTAGE COUNTIES, OHIO

Deadline: JANUARY 25, 2017 AT 2:00 P.M. (EASTERN TIME)

(Estimated Cost: \$3,600,000)

Bids	
Business	Bid Total
The Great Lakes Construction Co.	\$3,174,376.30
Kokosing Construction Company, Inc.	\$3,201,111.55
Suburban Maintenance & Construction, Inc.	\$3,848,123.90
Shelly & Sands, Inc.	\$4,208,184.50

THE GREAT LAKES CONSTRUCTION COMPANY

GENEF	GENERAL (Ref. Nos. 1 - 5)						
Ref. No.		Description		Units	Unit Price	Extension	
	Item No.		Quantity				
		PREMIUM FOR CONTRACT PERFORMANCE BOND	1		\$48,500.00	\$48,500.00	
1	IB.ART.6	AND PAYMENT BOND	I	LUMP			
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$280,000.00	\$280,000.00	
3	SP 619	FIELD OFFICE	1	LUMP	\$25,000.00	\$25,000.00	
4	SP 623	CONSTRUCTION LAYOUT SURVEY	1	LUMP	\$12,000.00	\$12,000.00	
5	624	MOBILIZATION	1	LUMP	\$100,000.00	\$100,000.00	
					Total:	\$465,500.00	

ROADV	VAY (Ref.	Nos. 6 - 23)				
Ref. No.		Description	Quantity	Units	Unit Price	Extension
	Item No.		Quantity			
6	202	PIPE REMOVED, 24" AND UNDER	55	FOOT	\$30.00	\$1,650.00
7	202	GUARDRAIL REMOVED	600	FOOT	\$2.00	\$1,200.00
8	202	CATCH BASIN REMOVED	6	EACH	\$250.00	\$1,500.00
9	202	PAVEMENT REMOVED	27	SQ. YD.	\$20.00	\$540.00
10	254	PAVEMENT PLANING, ASPHALT CONCRETE	518	SQ. YD.	\$45.00	\$23,310.00
11	301	ASPHALT CONCRETE BASE, PG64-22	12	CU. YD.	\$1,044.00	\$12,528.00
12	407	NON-TRACKING TACK COAT	70	GAL	\$30.00	\$2,100.00
		ASPHALT CONCRETE SURFACE COURSE, TYPE 1,	19		\$720.00	\$13,680.00
13	441	(448), PG64-22	19	CU. YD.		
		ASPHALT CONCRETE INTERMEDIATE COURSE,	27		\$638.00	\$17,226.00
14	441	TYPE 2, (448), PG64-22	21	CU. YD.		
		PEINFORCED CONCRETE APPROACH SLABS	100		\$280.00	\$55,720.00
15	526	(T=12")	199	SQ. YD.		
16	606	GUARDRAIL, TYPE MGS	300	FOOT	\$16.40	\$4,920.00
17	606	MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1	12	EACH	\$2,385.00	\$28,620.00

		LAW ENFORCEMENT OFFICER WITH PATROL CAR	00		\$65.00	\$5,850.00
18	614	FOR ASSIST	90	HOUR		
19	614	REPLACEMENT SIGN	5	EACH	\$130.00	\$650.00
20	626	BARRIER REFLECTOR	16	EACH	\$6.25	\$100.00
		SIGNING MISC.: ADDITIONAL SIGNS, GROUND	200		\$15.75	\$4,725.00
21	630	MOUNTED AS DIRECTED BY THE ENGINEER	300	SQ. FT.		
22	642	EDGE LINE, 4"	0.39	MILE	\$6,240.00	\$2,433.60
23	642	CENTER LINE	0.19	MILE	\$6,380.00	\$1,212.20

Total: \$177,964.80

DRAINA	GE (Ref.	. Nos. 24 - 26)					
Ref. No.		Description	Quantity	Units	Unit Price	Extension	
	Item No.		Quantity				
24	SP 604	CATCH BASIN, NO. CB-1	6	EACH	\$3,500.00	\$21,000.00	
25	611	12" CONDUIT, TYPE B	28	FOOT	\$100.00	\$2,800.00	
26	611	12" CONDUIT, TYPE C	27	FOOT	\$100.00	\$2,700.00	

Total: \$26,500.00

STRUC	TURES (F	Ref. Nos. 27 - 44)				
Ref. No.		Description	Ougatitus	Units	Unit Price	Extension
	Item No.		Quantity			
27	SP 202	PORTIONS OF STRUCTURE REMOVED	1	LUMP	\$550,000.00	\$550,000.00
28	SP 509	EPOXY COATED REINFORCING STEEL, GRADE 60	200969	POUND	\$1.05	\$211,017.45
20	SP 509	REINFORCING STEEL, REPLACEMENT OF	200	POUND	\$2.50	\$750.00
29	509	EXISTING REINFORCING STEEL	300	POUND		
00	00.5440	CLASS HP4 CONCRETE, SUPERSTRUCTURE DECK	616	011 V/D	\$900.00	\$554,400.00
30	SP 511B			CU. YD.	\$750.00	¢170.250.00
31	SP 511B	CLASS S CONCRETE, BARRIERS AND PARAPETS, USING TYPE 1 CEMENT	239	CU. YD.	\$750.00	\$179,250.00
32		CLASS HP4 CONCRETE, ABUTMENT SLABS	144	CU. YD.	\$600.00	\$86,400.00

		CLASS HP4 CONCRETE, FOR PREPLACEMENT	9		\$700.00	\$6,300.00
33	SP 511B	TESTING	Ŭ	CU. YD.		
34	513	WELDED STUD SHEAR CONNECTORS	6600	EACH	\$2.80	\$18,480.00
35	SP 516A	CRACK REPAIR USING EPOXY INJECTION	25	FOOT	\$50.00	\$1,250.00
36	SP 516B	SEALING OF CONSTRUCTION JOINTS	1578	FOOT	\$3.00	\$4,734.00
37	SP 516G	REPLACE EXPANSION BEARING DEVICE	32	EACH	\$2,600.00	\$83,200.00
38	518	SCUPPER SALVAGED OR REPLACED	6	EACH	\$3,000.00	\$18,000.00
39	SP 519	PATCHING CONCRETE STRUCTURES	202	SQ. FT.	\$85.00	\$17,170.00
		FALSEWORK, TEMPORARY BRACING, AND	4		\$470,000.00	\$470,000.00
40	SP 527	PROTECTIVE STRUCTURES	1	LUMP		
		THREE (3) INCH CONTINUOUS STRIP SEAL IN	0.44		\$450.00	\$108,450.00
41	SP 533	STRUCTURAL STEEL JOINTS	241	FOOT		
			004		\$10.00	\$8,240.00
42	SP 536	CONCRETE WEATHERPROOFING, SUBSTRUCTURE	824	SQ. YD.		
		CONCRETE WEATHERPROOFING, DECK AND	0000		\$10.00	\$29,330.00
43	SP 536	ABUTMENT SLABS	2933	SQ. YD.	·	
43A	SP 601	CONCRETE SLOPE PROTECTION	90	SQ. YD.	\$150.00	\$13,500.00
		TYPE II FENCE, ALL ALUMINUM (6'-0" CHAIN LINK			\$93.65	\$143,940.05
44	SP 607	WITH SPECIALS)	1537	FOOT		. ,
		•				

Total: \$2,504,411.50

TOTAL BID AMOUNT: \$3,174,376.30

KOKOSING CONSTRUCTION COMPANY

GENEF	RAL (Ref. N	Nos. 1 - 5)				
Ref.	Item No.	Description	Quantity	Units	Unit Price	Extension
No.						
		PREMIUM FOR CONTRACT PERFORMANCE BOND	1		\$15,000.00	\$15,000.00
1	IB.ART.6	AND PAYMENT BOND		LUMP		
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$235,000.00	\$235,000.00
3	SP 619	FIELD OFFICE	1	LUMP	\$50,000.00	\$50,000.00
4	SP 623	CONSTRUCTION LAYOUT SURVEY	1	LUMP	\$15,000.00	\$15,000.00
5	624	MOBILIZATION	1	LUMP	\$100,000.00	\$100,000.00
					Total:	\$415,000.00

ROADV	VAY (Ref.	Nos. 6 - 23)				
Ref.	Item No.	Description	Quantity	Units	Unit Price	Extension
No.						
6	202	PIPE REMOVED, 24" AND UNDER	55	FOOT	\$20.00	\$1,100.00
7	202	GUARDRAIL REMOVED	600	FOOT	\$2.00	\$1,200.00
8	202	CATCH BASIN REMOVED	6	EACH	\$325.00	\$1,950.00
9	202	PAVEMENT REMOVED	27	SQ. YD.	\$200.00	\$5,400.00
10	254	PAVEMENT PLANING, ASPHALT CONCRETE	518	SQ. YD.	\$35.00	\$18,130.00
11	301	ASPHALT CONCRETE BASE, PG64-22	12	CU. YD.	\$750.00	\$9,000.00
12	407	NON-TRACKING TACK COAT	70	GAL	\$12.50	\$875.00
		ASPHALT CONCRETE SURFACE COURSE, TYPE 1,	19		\$850.00	\$16,150.00
13	441	(448), PG64-22		CU. YD.		
		ASPHALT CONCRETE INTERMEDIATE COURSE,	27		\$950.00	\$25,650.00
14	441	TYPE 2, (448), PG64-22		CU. YD.		
		PEINFORCED CONCRETE APPROACH SLABS	199		\$200.00	\$39,800.00
15	526	(T=12")		SQ. YD.		
16	606	GUARDRAIL, TYPE MGS	300	FOOT	\$18.25	\$5,475.00

17	606	MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1 LAW ENFORCEMENT OFFICER WITH PATROL CAR	12 90	EACH	\$2,650.00 \$80.00	\$31,800.00 \$7,200.00
40	C4.4	FOR ASSIST	90	HOLID	φου.υυ	Φ1,200.00
18	614	FOR A33131		HOUR		
19	614	REPLACEMENT SIGN	5	EACH	\$122.00	\$610.00
20	626	BARRIER REFLECTOR	16	EACH	\$6.95	\$111.20
		SIGNING MISC.: ADDITIONAL SIGNS, GROUND	300		\$16.75	\$5,025.00
21	630	MOUNTED AS DIRECTED BY THE ENGINEER		SQ. FT.		
22	642	EDGE LINE, 4"	0.39	MILE	\$4,500.00	\$1,755.00
23	642	CENTER LINE	0.19	MILE	\$9,100.00	\$1,729.00

Total: \$172,960.20

DRAIN	AGE (Ref.	Nos. 24 - 26)				
Ref.	Item No.	Description	Quantity	Units	Unit Price	Extension
No.						
24	SP 604	CATCH BASIN, NO. CB-1	6	EACH	\$3,200.00	\$19,200.00
25	611	12" CONDUIT, TYPE B	28	FOOT	\$170.00	\$4,760.00
26	611	12" CONDUIT, TYPE C	27	FOOT	\$165.00	\$4,455.00
					Total:	\$28,415.00

STRUC	TURES (R	Ref. Nos. 27 - 44)				
Ref.	Item No.	Description	Quantity	Units	Unit Price	Extension
No.						
27	SP 202	PORTIONS OF STRUCTURE REMOVED	1	LUMP	\$600,000.00	\$600,000.00
			200969		\$1.15	\$231,114.35
28	SP 509	EPOXY COATED REINFORCING STEEL, GRADE 60		POUND		
		REINFORCING STEEL, REPLACEMENT OF	300		\$1.10	\$330.00
29	509	EXISTING REINFORCING STEEL		POUND		
		CLASS HP4 CONCRETE, SUPERSTRUCTURE DECK	616		\$1,000.00	\$616,000.00
30	SP 511B	SLAB		CU. YD.		

		CLASS S CONCRETE, BARRIERS AND PARAPETS,	239		\$1,050.00	\$250,950.00
31	SP 511B	USING TYPE 1 CEMENT		CU. YD.		
32	SP 511B	CLASS HP4 CONCRETE, ABUTMENT SLABS	144	CU. YD.	\$600.00	\$86,400.00
		CLASS HP4 CONCRETE, FOR PREPLACEMENT	9		\$500.00	\$4,500.00
33	SP 511B	TESTING		CU. YD.		
34	513	WELDED STUD SHEAR CONNECTORS	6600	EACH	\$4.50	\$29,700.00
35	SP 516A	CRACK REPAIR USING EPOXY INJECTION	25	FOOT	\$175.00	\$4,375.00
36	SP 516B	SEALING OF CONSTRUCTION JOINTS	1578	FOOT	\$5.00	\$7,890.00
37	SP 516G	REPLACE EXPANSION BEARING DEVICE	32	EACH	\$2,700.00	\$86,400.00
38	518	SCUPPER SALVAGED OR REPLACED	6	EACH	\$2,500.00	\$15,000.00
39	SP 519	PATCHING CONCRETE STRUCTURES	202	SQ. FT.	\$125.00	\$25,250.00
		FALSEWORK, TEMPORARY BRACING, AND	1		\$273,250.00	\$273,250.00
40	SP 527	PROTECTIVE STRUCTURES		LUMP		
		THREE (3) INCH CONTINUOUS STRIP SEAL IN	241		\$525.00	\$126,525.00
41	SP 533	STRUCTURAL STEEL JOINTS		FOOT		
			824		\$14.00	\$11,536.00
42	SP 536	CONCRETE WEATHERPROOFING, SUBSTRUCTURE		SQ. YD.		
		CONCRETE WEATHERPROOFING, DECK AND	2933		\$12.00	\$35,196.00
43	SP 536	ABUTMENT SLABS		SQ. YD.		
43A	SP 601	CONCRETE SLOPE PROTECTION	90	SQ. YD.	\$125.00	\$11,250.00
		TYPE II FENCE, ALL ALUMINUM (6'-0" CHAIN LINK	1537		\$110.00	\$169,070.00
44	SP 607	WITH SPECIALS)		FOOT		

Total: \$2,584,736.35

TOTAL BID AMOUNT: \$3,201,111.55

SUBURBAN MAINTENANCE & CONSTRUCTION

GENERAL (Ref. Nos. 1 - 5)								
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
		PREMIUM FOR CONTRACT PERFORMANCE BOND	1		\$55,000.00	\$55,000.00		
1	IB.ART.6	AND PAYMENT BOND		LUMP				
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$297,000.00	\$297,000.00		
3	SP 619	FIELD OFFICE	1	LUMP	\$25,000.00	\$25,000.00		
4	SP 623	CONSTRUCTION LAYOUT SURVEY	1	LUMP	\$25,000.00	\$25,000.00		
5	624	MOBILIZATION	1	LUMP	\$100,000.00	\$100,000.00		
					Total:	\$502,000.00		

ROADWAY (Ref. Nos. 6 - 23)								
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
6	202	PIPE REMOVED, 24" AND UNDER	55	FOOT	\$10.00	\$550.00		
7	202	GUARDRAIL REMOVED	600	FOOT	\$10.00	\$6,000.00		
8	202	CATCH BASIN REMOVED	6	EACH	\$500.00	\$3,000.00		
9	202	PAVEMENT REMOVED	27	SQ. YD.	\$25.00	\$675.00		
10	254	PAVEMENT PLANING, ASPHALT CONCRETE	518	SQ. YD.	\$28.00	\$14,504.00		
11	301	ASPHALT CONCRETE BASE, PG64-22	12	CU. YD.	\$450.00	\$5,400.00		
12	407	NON-TRACKING TACK COAT	70	GAL	\$15.00	\$1,050.00		
		ASPHALT CONCRETE SURFACE COURSE, TYPE 1,	19		\$700.00	\$13,300.00		
13	441	(448), PG64-22		CU. YD.				
		ASPHALT CONCRETE INTERMEDIATE COURSE,	27		\$700.00	\$18,900.00		
14	441	TYPE 2, (448), PG64-22		CU. YD.				
		PEINFORCED CONCRETE APPROACH SLABS	199		\$220.00	\$43,780.00		
15	526	(T=12")		SQ. YD.				
16	606	GUARDRAIL, TYPE MGS	300	FOOT	\$20.00	\$6,000.00		
17	606	MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1	12	EACH	\$2,500.00	\$30,000.00		

		LAW ENFORCEMENT OFFICER WITH PATROL CAR	90		\$70.00	\$6,300.00
18	614	FOR ASSIST		HOUR		
19	614	REPLACEMENT SIGN	5	EACH	\$120.00	\$600.00
20	626	BARRIER REFLECTOR	16	EACH	\$10.00	\$160.00
		SIGNING MISC.: ADDITIONAL SIGNS, GROUND	300		\$22.00	\$6,600.00
21	630	MOUNTED AS DIRECTED BY THE ENGINEER		SQ. FT.		
22	642	EDGE LINE, 4"	0.39	MILE	\$4,000.00	\$1,560.00
23	642	CENTER LINE	0.19	MILE	\$7,000.00	\$1,330.00

Total: \$159,709.00

DRAINAGE (Ref. Nos. 24 - 26)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
24	SP 604	CATCH BASIN, NO. CB-1	6	EACH	\$1,450.00	\$8,700.00	
25	611	12" CONDUIT, TYPE B	28	FOOT	\$12.00	\$336.00	
26	611	12" CONDUIT, TYPE C	27	FOOT	\$12.00	\$324.00	
					Total:	\$9,360.00	

STRUCTU	RES (Ref.	Nos. 27 - 44)				
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
27	SP 202	PORTIONS OF STRUCTURE REMOVED	1	LUMP	\$680,000.00	\$680,000.00
			200969		\$1.10	\$221,065.90
28	SP 509	EPOXY COATED REINFORCING STEEL, GRADE 60		POUND		
		REINFORCING STEEL, REPLACEMENT OF	300		\$5.00	\$1,500.00
29	509	EXISTING REINFORCING STEEL		POUND		
		CLASS HP4 CONCRETE, SUPERSTRUCTURE DECK	616		\$1,400.00	\$862,400.00
30	SP 511B	SLAB		CU. YD.		
		CLASS S CONCRETE, BARRIERS AND PARAPETS,	239		\$1,100.00	\$262,900.00
31	SP 511B	USING TYPE 1 CEMENT		CU. YD.		
32	SP 511B	CLASS HP4 CONCRETE, ABUTMENT SLABS	144	CU. YD.	\$900.00	\$129,600.00

		CLASS HP4 CONCRETE, FOR PREPLACEMENT	9		\$500.00	\$4,500.00
33	SP 511B	TESTING		CU. YD.		
34	513	WELDED STUD SHEAR CONNECTORS	6600	EACH	\$4.50	\$29,700.00
35	SP 516A	CRACK REPAIR USING EPOXY INJECTION	25	FOOT	\$200.00	\$5,000.00
36	SP 516B	SEALING OF CONSTRUCTION JOINTS	1578	FOOT	\$15.00	\$23,670.00
37	SP 516G	REPLACE EXPANSION BEARING DEVICE	32	EACH	\$4,500.00	\$144,000.00
38	518	SCUPPER SALVAGED OR REPLACED	6	EACH	\$800.00	\$4,800.00
39	SP 519	PATCHING CONCRETE STRUCTURES	202	SQ. FT.	\$120.00	\$24,240.00
		FALSEWORK, TEMPORARY BRACING, AND	1		\$390,000.00	\$390,000.00
40	SP 527	PROTECTIVE STRUCTURES		LUMP		
		THREE (3) INCH CONTINUOUS STRIP SEAL IN	241		\$750.00	\$180,750.00
41	SP 533	STRUCTURAL STEEL JOINTS		FOOT		
			824		\$18.00	\$14,832.00
42	SP 536	CONCRETE WEATHERPROOFING, SUBSTRUCTURE		SQ. YD.		
		CONCRETE WEATHERPROOFING, DECK AND	2933		\$9.00	\$26,397.00
43	SP 536	ABUTMENT SLABS		SQ. YD.		
43A	SP 601	CONCRETE SLOPE PROTECTION	90	SQ. YD.	\$200.00	\$18,000.00
		TYPE II FENCE, ALL ALUMINUM (6'-0" CHAIN LINK	1537		\$100.00	\$153,700.00
44	SP 607	WITH SPECIALS)		FOOT		

Total: \$3,177,054.90

TOTAL BID AMOUNT: \$3,848,123.90

SHELLY & SANDS, INC.

GENERAL (Ref. Nos. 1 - 5)								
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
1	PREMIUM FOR CONTRACT PERFORMANCE BOND			\$50,000.00	\$50,000.00			
	IB.ART.6	AND PAYMENT BOND	ı	LUMP				
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$650,000.00	\$650,000.00		
3	SP 619	FIELD OFFICE	1	LUMP	\$35,000.00	\$35,000.00		
4	SP 623	CONSTRUCTION LAYOUT SURVEY	1	LUMP	\$55,000.00	\$55,000.00		
5	624	MOBILIZATION	1	LUMP	\$100,000.00	\$100,000.00		
					Total:	\$890,000.00		

ROADW	ROADWAY (Ref. Nos. 6 - 23)								
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension			
6	202	PIPE REMOVED, 24" AND UNDER	55	FOOT	\$30.00	\$1,650.00			
7	202	GUARDRAIL REMOVED	600	FOOT	\$2.00	\$1,200.00			
8	202	CATCH BASIN REMOVED	6	EACH	\$376.00	\$2,256.00			
9	202	PAVEMENT REMOVED	27	SQ. YD.	\$40.00	\$1,080.00			
10	254	PAVEMENT PLANING, ASPHALT CONCRETE	518	SQ. YD.	\$38.00	\$19,684.00			
11	301	ASPHALT CONCRETE BASE, PG64-22	12	CU. YD.	\$765.00	\$9,180.00			
12	407	NON-TRACKING TACK COAT	70	GAL	\$3.00	\$210.00			
13	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22	19	CU. YD.	\$845.00	\$16,055.00			
14	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (448), PG64-22	27	CU. YD.	\$600.00	\$16,200.00			
15	526	PEINFORCED CONCRETE APPROACH SLABS (T=12")	199	SQ. YD.	\$400.00	\$79,600.00			
16	606	GUARDRAIL, TYPE MGS	300	FOOT	\$21.00	\$6,300.00			

17	606	MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1	12	EACH	\$2,000.00	\$24,000.00
18		LAW ENFORCEMENT OFFICER WITH PATROL CAR	90		\$78.00	\$7,020.00
10	614	FOR ASSIST	30	HOUR		
19	614	REPLACEMENT SIGN	5	EACH	\$100.00	\$500.00
20	626	BARRIER REFLECTOR	16	EACH	\$8.00	\$128.00
21		SIGNING MISC.: ADDITIONAL SIGNS, GROUND	200		\$15.00	\$4,500.00
21	630	MOUNTED AS DIRECTED BY THE ENGINEER	300	SQ. FT.		
22	642	EDGE LINE, 4"	0.39	MILE	\$9,400.00	\$3,666.00
23	642	CENTER LINE	0.19	MILE	\$9,500.00	\$1,805.00

Total: \$195,034.00

DRAINAGE (Ref. Nos. 24 - 26)								
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
24	SP 604	CATCH BASIN, NO. CB-1	6	EACH	\$2,200.00	\$13,200.00		
25	611	12" CONDUIT, TYPE B	28	FOOT	\$120.00	\$3,360.00		
26	611	12" CONDUIT, TYPE C	27	FOOT	\$100.00	\$2,700.00		
					Total:	\$19,260.00		

STRUCTURES (Ref. Nos. 27 - 44)								
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension		
27	SP 202	PORTIONS OF STRUCTURE REMOVED	1	LUMP	\$500,000.00	\$500,000.00		
28	SP 509	EPOXY COATED REINFORCING STEEL, GRADE 60	200969	POUND	\$1.50	\$301,453.50		
29	509	REINFORCING STEEL, REPLACEMENT OF EXISTING REINFORCING STEEL	300	POUND	\$1.50	\$450.00		
30	SP 511B	CLASS HP4 CONCRETE, SUPERSTRUCTURE DECK SLAB	616	CU. YD.	\$1,300.00	\$800,800.00		

31	SP 511B	CLASS S CONCRETE, BARRIERS AND PARAPETS, USING TYPE 1 CEMENT	239	CU. YD.	\$1,000.00	\$239,000.00
32	SP 511B	CLASS HP4 CONCRETE, ABUTMENT SLABS	144	CU. YD.	\$1,200.00	\$172,800.00
33	SP 511B	CLASS HP4 CONCRETE, FOR PREPLACEMENT TESTING	9	CU. YD.	\$500.00	\$4,500.00
34	513	WELDED STUD SHEAR CONNECTORS	6600	EACH	\$4.00	\$26,400.00
35	SP 516A	CRACK REPAIR USING EPOXY INJECTION	25	FOOT	\$300.00	\$7,500.00
36	SP 516B	SEALING OF CONSTRUCTION JOINTS	1578	FOOT	\$10.00	\$15,780.00
37	SP 516G	REPLACE EXPANSION BEARING DEVICE	32	EACH	\$3,450.00	\$110,400.00
38	518	SCUPPER SALVAGED OR REPLACED	6	EACH	\$2,500.00	\$15,000.00
39	SP 519	PATCHING CONCRETE STRUCTURES	202	SQ. FT.	\$126.00	\$25,452.00
40	SP 527	FALSEWORK, TEMPORARY BRACING, AND PROTECTIVE STRUCTURES	1	LUMP	\$404,000.00	\$404,000.00
41	SP 533	THREE (3) INCH CONTINUOUS STRIP SEAL IN STRUCTURAL STEEL JOINTS	241	FOOT	\$700.00	\$168,700.00
42	SP 536	CONCRETE WEATHERPROOFING, SUBSTRUCTURE	824	SQ. YD.	\$15.00	\$12,360.00
43	SP 536	CONCRETE WEATHERPROOFING, DECK AND ABUTMENT SLABS	2933	SQ. YD.	\$15.00	\$43,995.00
43A	SP 601	CONCRETE SLOPE PROTECTION	90	SQ. YD.	\$275.00	\$24,750.00
44	SP 607	TYPE II FENCE, ALL ALUMINUM (6'-0" CHAIN LINK WITH SPECIALS)	1537	FOOT	\$150.00	\$230,550.00

Total: \$3,103,890.50

TOTAL BID AMOUNT: \$4,208,184.50